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2,060 824 0.4
272 L= 126m H16 H17 H16 H17 4 4 4 4
191 206 192 199 L= 740m H17 H20 H17 H20 96 96 96 96
015 L= 461m H16 H17 H16 H17 25 25 25 25
465 185 271 L= 707m H16 H20 H16 H20 71 71 71 71
345 351 352 L= 799m H16 H18 H16 H18 43 43 43 43
017 050 058 L= 470m H17 H18 H17 H18 50 50 50 50
076 L= 500m H17 H18 H17 H18 58 58 58 58
030 L= 600m H16 H18 H16 H18 74 74 74 74
150 L= 161m H16 H16 H16 H16 11 11 11 11
212 L= 730m H18 H19 H18 H19 93 93 93 93
528 L= 380m H16 H17 H16 H17 25 25 25 25
178 L= 330m H17 H18 H17 H18 42 42 42 42
115 L= 556m H19 H19 H19 H19 8 8 8 8
266 276 L= 418m H16 H17 H16 H17 28 28 28 28
142 L= 204m H16 H16 H16 H16 43 43 43 43
220 L= 500m H16 H20 H16 H20 63 63 63 63
87 L= 370m H18 H18 H18 H18 6 6 6 6
L= 800m H17 H20 H17 H20 840 840 840 840
2.8ha H17 H20 H16 H20 220 220 220 220
5.37ha H16 H18 H16 H18 28 28 28 28
L= 438m H19 H20 H19 H20 20 20 20 20
L= 425m H20 H20 H20 H20 12 12 12 12
H16 H16 H16 H16 1 1 1 1
2.58ha H17 H20 H17 H20 3 3 3 3
98257 H16 H16 H16 H16 196 196 196 196
2,060 2,060 2,060 0 2,060
0 0 0 0 0
| (A+B) 2,060
o

L o 2,200

L o 450

o 50

o 40

o 10

0.1ha 162 o 25

0.8ha 92 o 10

12 833 o 201

2,986




